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BACHELOR OF SCIENCE (B. Sc.) 

Term-End Examination 

June, 2022 

LSE-01 : CELL BIOLOGY 

Time : 2 Hours     Maximum Marks : 50 

Note : (i) Question No. 1 is compulsory. 

 (ii) Attempt any four questions from  

Q. No. 2 to Q. No. 6. 

 (iii) Draw well labelled diagrams wherever 

necessary. 

1. (a) Fill in the blanks with appropriate words :  

5×1=5 

(i) Viruses that infect bacteria are called 

.............. 

(ii) Multiple forms of an enzyme are 

known as .............. 

(iii) ............ microscope is used for 

observing living cells. 
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(iv) ............. are known as suicidal bags of 

cell. 

(v) Continuously dividing tissue in plants 

is known as .......... 

(b) Match the following items in column I with 

those in column II : 5×1=5 

 Column I  Column II 

(i) Mitochondria (1) Ribosomes 

(ii) Lysosomes (2) Sieve tubes 

(iii) Nucleolus (3) Cristae 

(iv) Cilia (4) Hydrolytic 

enzymes 

(v) Phloem (5) Microtubules 

2. Draw neat and well labelled diagrams of the 

following :  2×5=10 

(a) A motor neuron 

(b) Watson and Crick model of DNA 

3. Explain glycolytic pathway with suitable 

diagram.   10 

4. Write short notes on any two of the following : 

2×5=10 

(a) Electron microscopy 
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(b) Hormonal regulation of enzyme activity 

(c) Functions of vacuoles in plant cell 

5. Differentiate between any five of the following : 

5×2=10 

(a) Competitive and Non-competitive enzyme 

inhibitors 

(b) Mitosis and Meiosis 

(c) Resolving power and Magnification 

(d) Cell wall and Cell membrane 

(e) Gap junctions and Tight junctions 

(f) DNA replication and transcription 

6. Name the major macromolecules present in the 

cell. Describe any two methods of separating 

macromolecules on the basis of differences in 

their molecular weight. 10 
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5×1=5 

(i)
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(ii)

(iii) 

 

(iv)

(v)

I II

5×1=5 

  I II

(i) ª (1) 

(ii) (2) 

(iii) (3) 

(iv) (4) 

(v) ¶ (5) 
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2×5=10 

2×5=10 

ª

5×2=10 



 [ 7 ] LSE-01 

  P. T. O. 

³

ª

LSE–01   


